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What is the size of angle X?
577\ 3"

The square root of 81 is 9. What is the square root of 1007

The teacher’s bill for €15 worth of copies and 8 English

workbooks was €35. What did each workbook cost?

. Put in order of size, smallest first: 1-:009, 1-:011, 1-01.

Dara has to take a teaspoonful (5ml) of medicine 3 times a
day after meals. If the bottle holds 180ml, how long wiII the
medicine last?

Rename 75% as a fraction in its lowest terms.

Nails are €5 a kg. What will | pay for 1-4kg of nauls‘?

Pick two fractlons in thlS set which are more than a 4 but

less than 2 : {12, %, 16 }.
Patrick spent 30% of his money on a football and 60% of it on

football boots. If Patrick had €3 left, how much money had he

at the start? |
Teresa has three times as much money as Rita. Between them

they have €10. How much has Teresa?
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1. How many thousand euro in €2 million? )
2. What is the measure of angle A? e 11
290° A°

3. A ball costing €50 was increased in price by 1%.
What was the new price?
4. The perimeter of a swimming pool is 70 metres. If the
width is 10 metres, what is the length of the pool?
5. What fraction of 1 hour is 5 minutes (in its lowest terms)?
6. If a jug holds 13 litres, how many jugs of water will
| need to fill an aquarium which holds 10 litres?
7. What is the LCM of 5, 8 and 107?
8. Which pair of numbers have a difference of 257
{25, 35, 40, 60, 75} .
9. 92 =[1(z 2o0r5 |
10. A DVD player can be bought for €250 cash or for a down 10. Ll
payment of €40 and twelve monthly payments of €20. il ;.;I
How much do you save by paylng cash? i
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